End of Unit Test Name: Answoerls

Simplifying and Substituting - HIGHER 'Q l.
1) (a)  Factorise x? + 10x + 24 “ z,gH .
Answer ..... (344’6)(14”“') ........................
(2)
(b) Hence or otherwise, solve x2 + 10x + 24 =0
Answer.. X. = =& Or ~% .
(1)
(Total 3 marks)
3) (a) Expand and simplify (6x — 1)(2x + 3)
...... L2 L 20 = 230 = e
Answer ... | 2ot O = e
(2)
(b) Solved4x?+x-3=0
- /
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e~ G ™ |l }
IR
Answer ...2S.. ... /“" ..... ) e S
(3)
(Total 5 marks)
. . 4x2-1
3) Slmp“fy 4x2+12x+5

(QMZ:c—‘> ............................................ 2x S
L2 2 xS o 2x )" J1ox|

.......................
................................................................................................

(Total 3 marks)



4)

S)

Expand and simplfy  (2x 5)(2x S)(3x 7)

F rallvaluesofx f() x 1andg(x) x 95

(3) ... Shomdh . A0 ... 0% A0 26 it
......... ()5(1)‘(7’3)*‘
.............................. >*-Sx -S> +t2Ss+ |
......................... — X 1O A 26
................................................................................................................. 2

(D) .SOME 1O(x) .. 0N .o
5?(1)‘(1“)’5 ...... = = &
X - 10>+ 26 S = G

............ — 1O x + R
.............................. RO VO X
R
.................................................. e
(4)

(Total 6 marks)

(Total for test 20 marks)



